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“Financial Management is nothing but managerial decision
making on asset mix. capital mix and proiit allocation.”

Elucidate the statement. 6

XYZ Ltd. is considering the purchase of new machine.
Two alternative machines (A & B) have been suggested,
each having initial cost of Rs. 10,00,000 and requiring
Rs. 50,000 as additional working capital at the end of

I'st year. Net cash flows are expected to be as follows :

Cash Inflows

Year Machine A Machine B
1 Rs. 1,00..,000 Rs. 3,00,000
2 Rs. 3,00,000 Rs. 4,00,620
3 Rs. 4,00,000 Rs. 5,00,000
4 - Rs. 6,00,000 Rs. 3,00,000
5 Rs. 4,00,000 , Rs. 2,00,000

The Company has target return on capital of 10% and on
this basis you are required to compare the profitability of
the machines and state which altermative you consider 1o

be financially preferable. 9
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“Financial Management has expanded in its scope during
last few decades.” Examine the modern approach to the

scope of financial management. 6-

A Company has to make a choice between two projects
{A & B). The inivia! outlay of two projects are Rs. 2,70,000
and Rs. 4,80.000 respectively for A and B. The scrap values
after 5 years are Rs. 10,000 and Rs. 30,000 respectively.

The opportunity cost of capital of the company 15 16%.

The annual cash flows are as under : 9
Year Project A Project B
(Rs) (Rs.)
! — 1,20,000
2 60,000 1,68,000
3 264,000 1,92,000
4 | 168000 2,04,000
5 178,000 2,10,050

You are required to calculate :
() Payback period

(i} Profitability index.
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Why do NPV and IRR techniques of evaluation of

capital budgeling lead to conflicting project ranking ? 6
A timited company has the following capital structure : ki
Equity share capital (2,00,000 shares) Rs. 40,00,000
£% Preference share capital Rs. 10,00,000
8% Drebentures ' Rs. 30.00,000

The market price of the company’s equity share Rs. 20.
M is expected that company will pay current dividend
of Rs. 2 per share will grow at 7% forever. The tax may
be presumed at 50%. You are required to compute the

follawing :

() A weighted average cost of capital based on existing

capital structure.

(iiy  The new weighted average cost of capital if the
company raises an additional Rs. 20,00,000 debt by
issuing 10% debentures. This would result in
increasing the expected dividend to Rs. 3 and leave
the growth rate unchanged but the price of share

will fall to Rs. 15 per share.
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Explain the Net Operating Income Approach to

Capital Structure. 6

A firm sells its only produci at Rs. 10 per unit. Its variable
cost ratio is 70% while fixed cost are Rs. 10,000. Preseni

sales are 10,000 units. You are required to calculate : 9
(5  Degree of Operating Leverage

(i New EBIT if seles increased by 40%

(i)  New EBIT if sales falls by 25%

(i) By what % should sales fall before the firm starts

incurring loss.
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Explain briefly the factors which influence the dividend

policy of a firm. 6

ABC Lid. has 1,00,000 eguity shares of Rs. [0 each. The
shares are currently being quoted at par in the market.
The Company now intends to pay dividend of Rs. 2 per
share for the current vear. It belongs to risk class whose
appropriate capitalization rate is 15%. Using MM Model
ascertain the price of the Company’s share at the end of

year :
(N When dividend is declared.
(i)  When no dividend is declared.

Also find out the number of new equity shares that must
be issued to meet its investment of Rs, 4,00,000, assuming
a net income of Rs. 2,20,000 and also assuming that the
dividend is paid. g

P.T.O.
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Discuss the Miller-Orr model for determining the cash

balance for the firm. . 6

The following are the details regarding three companies ; 9

A Lid. B Ltd. C Ltd.
r=15% r=5% r=10%
Ke = 10% Ke = 10% Ke = 10%

EPS =Rs. 8 EPS=Rs.8 FEPS=Rs 8

Calculate the value of an equity share of each of these

companies applying Walter’s model when dividend payout

ratio is :
{) 25%
iy 50%

il) 5%
4 % fou I I fwifta 0 & foe * frer-sin’

Higd &t fEg=w Fifsm
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{g) “Liquidity and profitability are competing goods for finance

manager.” Comment. 6
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(B} A company’s present sale is Rs. 40 lacs per annum with
20 days credit period, present variable cost are 70% of
sales and tota! fixed cost Rs. 6 lacs per annum. The company
expects pretax return on investment @ 23%. Some other
details in respect to increase in the credit policy with a

view to increase sales are given as under :

Credit Policy Average Collection Expected Annual

Period (Days) . Sales (Rs.}
! 36 . 44 lac
I 40 50 lac
1M 45 52 lac
v 51 60 lac
W &0 75 lac

Which credit policy should the company adopt ? Assuming

360 days a veat. 9
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What are the effects of bonus issue on EPS and Market

Price of a share ? &,

AB lud. has decided m‘change its capital structure. The
firm has one crore fully paid up equity shares. Markei price
of_sharc Rs. 50 and s likely to remain the same even after
proposed capital restructuring, The restrucruring involves
increasing the firm existing Rs. 9 crore 10% Debt to

Rs. 14 core.

The proceeds will be used to retire the equity. The interest
rates on debt is not expected to change as the debt
investors do not perceivé the firm to become more risky.
Company is in 40% ta:lc bracket. Calculate that level of
EBIT that the firm must earn so that EPS doesn’t

change. 9
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Why must the finance manager keep in mind the depree
of financial leverage in evaluating various financing

plans * b

. X Ltd. plans to sell 1,20,000 units next year. The expected

cost of goods is as follows : 9
Raw material - Rs. 100
Wages Rs. 30

Overheads (including Dep. (@ Rs. 5 per unit) Rs, 25
Selling price Rs. 200

The duration of various stages of operating cycle is

expected to be as follows .

Raw material stage 2 months
Work-in-progress stage 1 month
Finished goods stage Y2 month
Debtors stage 1 month

Estimate the working capital requirements if the desired

cash balance is 5% of Gross working capital requirement.
P.T.O.
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What are the costs and benefits associated with change

in credit policy ? 3
Write short notes on : 10
(7  Indifference level

(ify  Lock-Box system.
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